
22-11/2024

1/14

   Vor der Montage bitte 
beiliegende Informationen 
             beachten 

SUNNY 2F.REC/BK

A                            Ax6 B                           Bx4 C                         Cx20

                          M6x20

D                           Dx4

E                            Ex4

                              Felt

F                            Fx1

                            Key4

G                           Gx6

                          M6x40

H                           Hx4

                             5x30

I                               Ix5

SUNNY REC/BK.2F

1
2

6 7 7

3

44

5
1

2

677

3

44

5



1a,b B                           Bx4 H                           Hx4

                             5x30

B
H

+Е

3

2

2

2/14



2a

!

С                        Сx4

                      M6x20

D                        Dx2 G                        Gx3

                      M6x40

I                           Ix3

D C

C

G

I

2

5

3/14



2b

!

С                        Сx4

                      M6x20

D                        Dx2 G                        Gx3

                      M6x40

I                           Ix3

D C

C

G

I

2

5

4/14



3a

3b

A                            Ax6 B                           Bx4 C                         Cx20

                          M6x20

D                           Dx4

E                            Ex4

                              Felt

F                            Fx1

                            Key4

G                           Gx6

                          M6x40

H                           Hx4

                             5x30

I                               Ix5

A                           Ax2

                          

C                           Cx4

                          M6x20

A

C

C

A                           Ax2

                          

C                           Cx4

                          M6x20

A

C

C

5/14



4a G                           Gx3

                          M6x40

I                               Ix2

4b G                           Gx2

                          M6x40

I                               Ix2

I

G

I

55

3

4

5

4

3

A                            Ax6 B                           Bx4 C                         Cx20

                          M6x20

D                           Dx4

E                            Ex4

                              Felt

F                            Fx1

                            Key4

G                           Gx6

                          M6x40

H                           Hx4

                             5x30

I                               Ix5

!

G

GI

I

G

1

4

6/14



4b G                           Gx3

                          M6x40

I                               Ix2

G

!

G

GI

I

1

4

7/14



5a

!

A                            Ax4 C                         Cx12

                          M6x20

D                           Dx2

                          

DC

C

C

A

8/14



5b

!

A                            Ax4 C                         Cx12

                          M6x20

D                           Dx2

                          

C

A

DC

C

9/14



6a

7

10/14

7 6



6b

776

11/14



7a

12/14



7b

13/14



Economic Operator: Home Group Europe GmbH
Industriestr. 83
D-32120 Hiddenhausen
info@homegroup-europe.de

14/14

mailto:info@homegroup-europe.de%0b

	Страница 1
	Страница 2
	Страница 3
	Страница 4
	Страница 5
	Страница 6
	Страница 7
	Страница 8
	Страница 9
	Страница 10
	Страница 11
	Страница 12
	Страница 13
	Страница 14

